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ifx centered (M=) => X*X = N .El CVAR(X)
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Kernel Matrix Xxt = k zdatapoints
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A) either CH(X) , CHN) donot intersect
op Exib dyjh are linearly separable

: One
side X (

the other sideY
hyperplane sep -in separation by wyp↳notre both & CH(x) nch(Y)0-

intersection.

B) one of the two must happen
if CH(X)1CH(Y)=0 =>> there is a separator

do not intersect hyperplane



-mode entropy setresplit

at mode Entropy = H(Y)- H(Y(X)
= F(x, Y) =(4)Copy

Il·Il mutual informationentropy after split
# (x*x0)H(yy +#(x+>) -H(y

label counts
label cauts cond

joint
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= [P(y ,X) · LosH(4) H(yR) Y ,X ⑭justst



· prove [(x,Y) = H(Y) - H(Y(x)

Polo - EPY)lop
hint Ep(x(y) = Paginal-

H joint

⑨ [(x,Y) = H() - H((x)

symmetric = H(x)-H(X (4) - - - -- pb4

X= binary split (2 branches)


